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Quiz 3, MATH 240, Fall 2023

Write your name clearly.

Name:

Section Number: UID:

(1) Let A be a matrix that has the RREF

1 0 -2 3
01 0 -1
00 0 O
00 0 O

(a) [8] Write the parametric vector form of the solution set to Ax = 0.

2 1
b) [8] If we know A [ ! | = | } |, write the parametric vector form of the solution
v) =\

set to Ax = 1 ).

-1
(c) [4] Are the columns of A linearly independent or linearly dependent? Explain.

The solbons o AX =T are gven Ay
€, = e —3%¢
Xy = Ay
X2, Oy, A«Mﬂ_)

2 _
I-e. — 0o + X )3
X = Xy ( 4 0

O / .
Jisle thakt A (-2,1,0,-) = (A, ,~, 1) S TR
Slpms 4o AT = (-1,~1,-, ) o N by

~=0=21,06-) + &s (2,0,,0) t2, (=31, ))

The  columis Qﬁ[ A are L’nmr{é{/ alemc/wwi' b ecane.
s RREF  doer  net  have a pt " ey oo



